CHAPTER IV
FINDING AND DISCUSSION
This chapter explains about the research findings of the description and the

interpretation of students’ word stress performance and the discussion.

A. RESEARCH FINDING

After collecting the data using some instruments presented on the
previous study, therefore the researcher will present the data about the word
stress performance and common type of word stress performance produced by
students at forth semester of speaking class English education department as

accurate as possible.

1. Students’ word stress performance at forth semester of speaking class

English education department

Based on the data collected, the researcher found some information
dealing with the students’ word stress performance on their speaking. It
showed that many students are not paying much attention on their speaking
performance and unfortunately students’ first language or students’ mother
tongue is adhered as well. Here are the findings of students’ word stress
performance by students of English education department UIN Sunan Ampel

Surabaya.
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Deeply, this research data specified only on the three parts of speech
under heading the simple words; Noun, Verb and Adjective with not more than
four syllables. Then, match the students’ word stress performance with the
correct placement of stress by using rules of English stress and the Cambridge

advanced learners’ dictionary.

Here are the students’ word stresses performances at speaking class of
English education department which are classified based on the rule of English

stress.

a. Verb

In the term of English stress, there are several rules of verbs
determined. Therefore, in this finding description the data will be classified

based on the rules, they are:

The verbs in case of two syllables:

1) If the second syllable of the verb has a long vowel or diphthong, or if it
ends with more than one consonant, that second syllable is stressed.

Table 4.1

The verbs with a long vowel or diphthong

Decision of students
No | Students’ word stress The correct word stress
performance word stress performance
transcription Correct | Incorrect
1 |Improve /im'pru:v/ /im'pru:v/ N
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2 | Suppose  /sa'pouz/ /sa'pavz/ \
3 |Record  /ri'ko:d/ Iri'ko:d/ \
4 | Pretend /pri'tend/ /pr1'tend/ \
5 | Describe /dis'kraib/ Jdr' skraib/ N
6 | Increase /mn'kri:s/ /in'kri:s/ N
7 | Transfer /trens'fs:r/ /trens'fs: r/ N
8 | Control  /kon'troul/ /kon'traol/ N
9 | Conclude /kon'klu:d/ /kan'klu:d/ N
10 | Contains /kon'temn/ /kan'temn/ N
11 | Research  /'ris3:tfl [r1's3:tf/ N
12 | Compare /kom'pea r/ /Kam ' pear/ \
13 | Provide  /pro'vard/ Ipro'vard/ \
14 | Divide /'dr vard/ /dr'vard/ N
15 | Invite /'m.vart/ /in'vart/ N
16 | Provide  /'pro.vaid/ Ipro'vard/ \
17 | Compose /kom'povz/ |  /kem'pouz/ \
18 | Import /im' po:t/ /im’ pa:t/ v

Based on the data presented on students’ word stress performance,
it showed a good word stress Performance. It is because in the term of two

syllables, the possible stress placement is only two; they are in the first
syllable such as the word Interview /'ito.vju:/ or in the second syllable such
as the word describe /dis'kraib/ and Provide /pra‘vard/. Therefore, it will be

easier for the students to pronounce the words: Let see their performance

deeply by taking those word stress performance randomly.
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Figure 4.1: Invite /'in.vart/
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1. The word invite /'in.vait/ that student pronounced incorrectly, the
stress is put on the first syllable. (For more acoustic analysis, see in the
appendix)

a. In/'in -/ the pitch is rising, especially in the part of vowel, while in
Ivait/ the pith is falling down. Whereas, invite /'in.vait/ in the
correct term is,

b. In /in -/ the pitch is falling down, while in /'vart/ the pitch is rising,
especially in part of vowels.

Besides, the data finding also showed that in the case of two
syllables students also perform some incorrect word stress placement.
Thus, the data showed that students tend to place a wrong stress on
word which contains close and short vowels /1/ on the first syllables,
they are /'dr vaid/, /'in.vait/ and /'r.s3:tf/. Furthermore, let see another

example of students’ English stress performance:
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Figure 4.2: increase /in'kri:s/

0.209928

0.209928 0.168947
0 Visible part 0.378875 seconds  0.378875

Total duration 0.378875 seconds

2. The word increase /in’kri:s/ that students pronounced correctly, the
stress is put on the second syllable. (for more acoustic analysis, see in
the appendix)

a. In /in-/ the pitch is falling down, while in /'kri:s/ the pitch is rising.
b. The stressed syllable is higher that unstressed one and the duration
of the second syllable /'kri:s/ is longer than the first.
Those are the result of fist category of students’ word stress
performance of verbs
2) If the final syllable contains a short vowel and one (or no) final
consonant, the first syllable is stressed.
Table 4.2

The verbs with a short vowel

Decision of students
No Students’ word The correct word stress
stress performance word stress performance
transcription Correct | Incorrect
1 | Cover /kav'ar/ I'kav.or/ \
2 | Study /'stad.i/ /'stad.i/ N
3 | Access /&k'ses/ /'&k.ses/ N
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In this second classification of English stress rule, students also

produced stress often correctly. Let see the performance deeply:

Figure 4.3: cover /kav'ar/
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1. The word cover /kav'ar/ that student pronounced incorrectly, the stress
is put on the second syllable. (For more acoustic analysis, see in the
appendix)

a. In/kav -/ the pitch is falling down, while in /*ar / the pitch is rising,
especially in part of vowels. Whereas, cover in the correct term
/'kav.orl.

b. In /'kav -/ the pitch is rising, while in /'ar/ the pitch is falling down,

especially in part of vowels.

Besides, it also showed that they pronounced a wrong stress
on the word which contains mid vowel /o/ on the second syllable.

Instead of that it is ought to placed a stress on the first syllables if the
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final syllable contains a short vowel and one (or no) final
consonant. Such as students correct word stress performance below:

Figure 4.4: Study /'stad.i/

0.237990

0 Visible part 0.475979 seconds  0.475979)

Total duration 0.475979 seconds

2. The word access /'stad.i/ that students pronounced correctly, the stress
IS put on the first syllable. (for more acoustic analysis, see in the
appendix)

a. In /'stad -/ the pitch is rising, while in /- i/ the pitch is falling down,
especially in part of vowels.

b. The first stressed syllable is higher that second syllables.

Those are the finding in case of verb with two syllables. Deeply,
let see to students’ word stress performance in the term of more than two

syllables:
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The verbs in case of three syllables:

3) If the last syllable contains a short vowel and ends with not more than one
consonant, that syllable will be unstressed and stress will be placed on the

preceding (penultimate) syllable.

Table 4.3

The verbs with short vowels and ends not more than one consonant

Decision of

No Students’ word stress The correct students word

performance word stress stress performance
transcription | Correct | Incorrect

1 | Influence /in.flu. ants/ /'1n.flu.ants/ N

2 | Recognize /rek. ag.naiz/ | /'rek.og.naiz/ \

3 | Separate /sep.or'ert/ /'sep.ar.ert/ \

In this third classification of stress rule, the students produced
incorrect stress placement. Let see the acoustic analysis deeply:

Figure 4.5: separate /sep.ar ert/
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0265174 0.206826
0 Visible part 0.472000 seconds  0.472000

Total duration 0.472000 seconds

The word separate /sep.ar’ert/ that student pronounced incorrectly, the
stress is put on the last syllable. (For more acoustic analysis, see in the

appendix)
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a. In /sep-/ the pitch is falling down, and /ar-/ the pitch is also falling

down, while in /"ert/ the pitch is rising, especially in part of vowels.

Whereas, separate in the correct term is /'sep.ar.e1t/,

b. In /'sep -/ the pitch is rising, while in /'ar/ and /ert/ the pitch are

falling down.

Whereas, in this case of word syllables if the last syllable contains a

short vowel and ends with not more than one consonant, that syllable will

be unstressed and stress will be placed on the preceding (penultimate)

syllable. Deeply, those data also showed that students placed the stress on

syllable which is contains with mid vowel /a/.

4) In addition, if the final syllable contains a long vowel or a diphthong, or

ends with more than one consonant, that final syllable will be stressed.

Table 4.4
The verbs with a long vowel or a diphthong
Decision of
No Students’ word stress The correct students word

performance word stress stress performance
transcription Correct | Incorrect

1 | Related /r1ler. tid/ /r1'ler.tid/ N

2 | Understand /an.da'stend/ /an.da'steend/ N

In this classification of English stress rules, there are two words

produced. It contains of correct and incorrect stress placement.
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Figure 4.6: understand /an.da’steend/
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1. The word understand /an.dasteend/ that students pronounced correctly,
the stress is put on the last syllable. (for more acoustic analysis, see in
the appendix)
a. In /an-/ and /da-/ the pitch is falling down, while in /'steend/ the
pitch is rising, especially in part of vowels.
b. The third stressed syllable is higher that first and second syllables.
Therefore, it is right if the final syllable contains a long vowel or
a diphthong, or ends with more than one consonant, that final syllable will
be stressed.

Figure 4.7: related /rx ler'trd/
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2. The word related /rr.ler'tid/ that student pronounced incorrectly, the stress
is put on the last syllable. (For more acoustic analysis, see in the
appendix)

a. In/ri-/and /ler-/ the pitch are falling down, while in /'tid/ the pitch is
rising. Whereas, related in the correct term is /r1’'ler.tid/,
b. In /r1 -/ the pitch is falling down, while in /'ler/ the pitch is rising in
vowels term and the last syllable /tid/the pitch are falling down.
In this incorrect word of related /ri.ler'tid/, students also stress a

syllable that contains the close vowels /1/.

b. Noun

In the term of English stress, there are several rules of nouns
determined. Therefore, in this finding description the data will also be
classified based on the rules, they are;

The nouns in case of two syllables:

1) If the second syllable contains a short vowel, the stress will usually come

on the first syllable; otherwise it will be on the second syllable.

Table 4.5
The nouns with a short vowel
The correct Decision of
No Students’ word stress word stress students word
performance transcription | stress performance

Correct | Incorrect
1 | Advise /'od.vais/ /od'vars/ N
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2 | Humor /hju:'mar/ /'hju.mar/ \
3 |ldea /ar'dio/ Jar'dra/ N
4 | Interest /in'trost/ /'1n.trost/ \
5 | Journal /'d33:.nol/ /'d33:.nal/ N
6 | Knowledge /nol'id3/ | /'nol.idz/ N
7 | Learner /'ls.nor/ I'l3.nor/ N
8 | Lesson /'les.on/ /'les.o n/ \
9 |Level [/leviall I'lev. o/ \
10 | Method /'me6.ad/ /'me0.ad/ N
11 | Picture /pik'tfor/ 'pik.tfor/ \
12 | Practice [/ preek.tis/ /' preek.tis/ \
13 | Function /fagk'fon/ | /'fagkSon/ \
14 | Process /'prouv.ses/ ['prov.ses/ \
15 | Purpose /p3:'pas/ /'p3:.pas/ N
16 | Reason /ri:'zon/ /'ri:.zan/ \
17 | Research /ri's3:tf/ /'ris3:tfl \
18 | Sentence /'sen.ton ts/ /'sen.ton t s/ \
19 | Students /'stju:.dant/ /'stju:.dont/ \
20 | Subject /sab'dzekt/ /'sab.dzekt/ N
21 | Technique /tek'ni:k/ /tek ni:k/ \
22 | Teaching /ti:'tf/ ['ti:.tfin/ N
23 | Meaning /mi: 'niy/ /'mi:.nm/ \
24 | Language /'len.gwids/ | /'len.gwids/ \

In this noun classification of English stress rules, it showed that

students pronounced word stress more correctly than incorrect one.

Besides, the researcher also found that in this data finding the facts also

showed if students often pronounced word stress incorrectly when the word

syllable contains of close vowel /i/ such as; /nol'id3/, /mi:'niy/ and

/lleen'gwids/ and mid /of vowel such as; /'ad.vais/, /hju:'moar/, me6'ad/,

Ipik'tfar/, /p3:'pas/, and /stju:'dent/. Thus, it is the same as the previous

finding that students often misplacing the stress when they met syllables
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words contain with close /i/ and mid /of vowel. Let see the stress

pronounced either correct or incorrect deeply.

Figure 4.8: humor /hju: mar/
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1. The word humor /hju:"'mor/ is pronounced incorrectly, its stress put on
the second syllable. (For more acoustic analysis, see the appendix)

a. In /hju:-/ the pitch is falling down, while in the /'mor/ the pitch is
rising. Whereas the correct stress placement of humor is
/"hju:.mor/.

b. The stress comes up on the first syllable, especially in the long
vowel /u:/.

Figure 4.9: Technique /tek'ni:k/
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2. The word technique /tek'ni:k/ is pronounced correctly, the stress put

on the second syllable. (see the acoustic phonetic)

a. In /tek-/ the pitch is falling down, while in the /'ni:k/ the pitch is

rising especially in the term of vowel /i:/.

b. The pitch on second syllable is higher than the first one.

Let see the other students’ noun words stress performance in

term of three or more syllables:

2) If the final syllable contains a short vowel or /o0/, it is unstressed:

Table 4.6

The nouns with short vowels or /o0/

The correct Decision of
No Students’ word stress word stress students word
performance transcription | stress performance
Correct | Incorrect
1 | Animal feni'mal/ | /'@nimal/ N
2 | Article la:"trkl/ ["a.tkl/ \
3 | Benefit /be'ni.fit/ ['ben.1.fit/ N
4 | Character  /['keer.k.tor/ | /'keer.ik.tor/ \
5 | Questioners /'kwes.tfo.nar/ | /'kwes.tfo.no r/ \
6 Reference  /'ref.ar.onts/ | /'ref.or.onts/ N
7 | Video Nid.i'ov/ | /'vid.i.ouf \

In this second classification of English stress rule, the data

almost have balance performance. Instead of that, this data ones more

time showed that students often pronounced stress incorrectly when they
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met word syllable contains with close vowel /1/, /&e.n1'moal/, /a: 'ti.kl/ and
/be’'ni.fit/. Let see the stress performance deeply:

Figure 4.10: video /vid.i'av/
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1. The word video /vid.i'au/ is pronounced incorrectly, the stress put
on the last syllable.
a. In /vid-/ and /i-/ the pitch are falling down, while in diphthong
['aul the pitch is rising. Whereas when a word syllable contains
of /au/ it is unstressed /*vid.i.ov/.

b. The pitch on the firs syllable must be higher than the second

syllable.

Figure 4.11: reference /'ref.ar.ants/
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2. The word reference /'ref.or.onts/ is pronounced correctly, the stress put

on the first syllable. It is appropriate with roach statement “if the last

word syllable consist of short vowels or /ov/, it is unstressed.” See the

acoustic phonetics:

a. In /'ref/ the pitch is rising while in the /or/ and /ants/ the pitch is

falling down or unstressed.

b. The first pitch is higher than the second one.

Both two acoustic analyses result showed the

misplacement of word stress on their speaking performance

students’

If the syllable preceding the final syllable contains a long vowel or

diphthong or it ends with more than one consonant, that middle syllable will

be stressed:

Table 4.7

The nouns with a long vowel or diphthong

The correct

Decision of students

No Students’ word stress word stress word stress
performance transcription performance
Correct | Incorrect
1 | Example /ig'za:m.pl/ hg'za:m.pl/ \
2 | Procedure /'pro.si:.dzor/ | /pra'si:.dzor/ \
3 | Projector /pro'dzek.tor/ | /pro'dzek.tor/ \
4 | Researcher /riss:'tfor/ | /ri'ss.tfor/ N

In this third classification, the data showed the balance performance

both correct or incorrect stress placement. Besides, students still repeat their

mistake that they placed stress incorrectly, when the met a word syllable
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contains of mid vowels /of they are; /'pra.si:.d3ar/ and /r1.s3: tfar/. For clear

description, let see the acoustic phonetics:

Figure 4.12: researcher /ri.s3: tfar/
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1. The word researcher /r1.s3: tfar/ is pronounced incorrectly, the stress is
put on the last syllable.

a. In /ri/ and /s3:/ the pitch are falling down, while in the /'tfor/ the
pitch is rising. Whereas the correct stress placement is on the
second syllable /r1's3:.tfar/.

b. In /ri’/ the pitch is rising and in the last two syllables the pitch
ought to falling down.

Figure 4.13: example /ig'za:m.pl/

0.197051

0.3761 B
0.01836 ' Channel 1

0.197051 N 0227678
0 Visible part 0424729 seconds 0424729
Total duration 0 424729 seconds




66

2. The word example /1g'za:m.pl/ is pronounced correctly, because in
this term if the last syllable contains of more than one consonant
therefore the middle syllable is stressed.

a. In /1g/ the pitch is falling down, while in /'za:m/ the pitch is
rising, and the pitch of last syllable /pl/ is also falling down
such as the first syllable.

b. The pitch on the second syllables is higher than other

Those are the result of acoustics analysis using the PRAAT

software, then Let see the other result of students’ word stress performance.

4) If the final syllable contains a short vowel and the middle syllable
contains a short vowel and ends with not more than one consonant, both
final and middle syllables are unstressed and the first syllable is stressed.

Table 4.8
The nouns with the final and the middle

syllables contains a short vowel

The correct Decision of students
No Students’ word word stress word stress
stress performance | transcription performance
Correct Incorrect
1 | Holiday /hol.r'der/ | /'hol.i.der/ \
2 | Story  /sto:'ri/ ['sta:.ri/ \

The data showed that students pronounced stress correctly,

because both two words syllable that they are stressed are contain of
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close vowels /i/ and diphthong /er/. Let see the acoustic phonetics

analysis deeply:

Figure 4.14: holiday /hol.r' der/
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The word holiday /hol.1'der/ is pronounced incorrectly, the stress put on

the last syllable.

a. In /hol/ and /1-/ the pitch are falling down, while the last syllable
/'dei/ the pitch is rising. Whereas in this term of stress rule, the last
syllable is unstressed then the first syllable is stressed /*hol.1.der/.

b. The pitch on the last syllables is higher than others.

From this result also showed that students made a mistake in short

vowels.

5) The stress in these words shifts to initial position if they are immediately
followed by another word with initial stress. Stress is placed on second
syllable from the end (penultimate) in most words ending with

(...ic,...tion,...ish,...it,...1on,...id,...ive).
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Table 4.9
The nouns with initial ending (..ic,..tion,..ish,..it,..ion,..id,..ive)
The correct Decision of
No Students’ word stress word stress students word
performance transcription stress performance
Correct | Incorrect
1 | Combination /'kom.br.ner.fon/ | /kom.br ner.fon/ N
2 | Confusion /'ken.fju:.3en/ /kon'fju:.3on/ N
3 | Conversation /kon.va.ser' fon/ | / kon.va'ser.fan/ \
4 | Definition / def'r.nifon/ / def.r'nif.on/ \
5 | Difference /dif 'or.ont s/ /'dif.or.on ts/ \
6 | Discussion /'dr.skaf. on/ /d1'skaf.on/ \
7 | Introduction / m.tra.dak'[on/ |/ mn.tra'dak. fon/ N
8 | Location /lo u.ker'fon/ /o o'ker. fon/ \
9 | Regulation /reg.ju.ler’ fan/ / reg.ju’ler.fan/ N
10 | Repetition  / rep.r.tifon/ [rep.1'tif.an/ \
11 | Situation  /sit.ju'erfon/ [stt.ju'er.fon/ N
12 | Observation / pb'za.ver.fan/ |/ pb.zo'ver.fon/ V

The data findings showed that students often pronounced the stress

incorrectly. Most of those stresses are caused by the word syllable which

contain of mid vowel /o/ such as /'kan.fju:.3on/, /kon.va.ser’ fon/, /dif ar.onts/.

Let see the acoustic phonetics analysis:

Figure 4.15: location /lau.ker fan/
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The word location /law.ker' fon/ is stressed incorrectly, the stress put on

the last syllable. In /louv/ and /kei/ the pitch are falling down, while in

/' fan/ the pitch is rising. Whereas the correct stress placement is on the

second syllable /lav'ker. fan/.

6) Stress is placed on third syllable from the end (anti-penultimate) in multi

syllable words, especially words ending with (..an,..ity,..al,..ar,..ian,..ual,..

itude,..logy,..graphy,..sophy, and others).

Table 4.10

The nouns with initial ending

(..an,..ity,..al,..ar,..ian,..ual,.. itude,..logy,..sophy and others)

The correct Decision of
No Students’ word stress word stress students word
performance transcription stress performance
Correct | Incorrect
1 | Ability /a.brir'ti/ o' bil.v.ti/ \
2 | Activity /ek.tr'viti/ [k tiv.Lti/ N
3 | Material  /mo'tra.ri.ol/ /ma'tia.ri.ol/ v
4 | Participant /pa:.tis.1'pant/ /pa: 'tis.1.p a nt/ \
5 | Performance /pa.fo:'mants/ | /pa'fo:.mon ts/ N
6 | Significance /sig ' nif.r.kants/ | /sig'nif.r.kon ts/ \
7 | Technology /'tek.np.lo.dsi/ | /tek'nol.s.d3i/ N

The data findings also showed that students pronounced stress

incorrectly when they met word syllables contain of close vowel /1/

such as [ek.tr'viti/, /o.br'lrti/

and mid vowels /e/ such

as/'tek.no.la.d3i/, /pa.fo:'mants/, /pa:.tis.ai’'pant. Let see the acoustic

phonetics analysis:




Figure 4.16: technology /'tek.no.la.d3i/
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The acoustic phonetics analysis of technology /'tek.nv.lo.d3i/, the first

syllable is stressed:

1. In /'tek/ the pitch is rising, while /no/, /Io/ and /dzi/ the pitch are

falling down. Whereas, the correct stress placement is on the second

syllable /tek'nol.a.d3i/.

2. The first pitch is higher than the other syllables.

7) Stress remains on the same syllable in words ending with (...able,

...age,...al,....en,...ful,...ing,...ish,.. .like,.. less,...ly,... less,...ly,...ness,

...ous,..fy,...wise,...y,...ment).

Table 4.11

The nouns with initial ending

(..able,..age,..ent,..ful,..ing,..ish,..less,..less,..ment and others)

No Students’ word stress
performance

The correct
word stress
transcription

Decision of
students word
stress performance

Correct | Incorrect

1 | Advantage  /od'va:ntidz/

/ad'va:n.tidz/

\/
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8 | Proficiency

/' pra.fif. antsi/

2 | Brightness  /brait'nas/ /' brart.nas/ \
3 | Confidence /kon'fi.donts/ /"kon.fr.donts/ \
4 | Delivery /dr.liv.or'i/ fd1' . or.i/ \
5 | Department  /di.pa:t'mont/ | /di'pa:t.mont/ N
6 | Development /dr.ve'lop.mont/ | /d1'vel.op.mant/ N
7 | Difference  /dif ‘or.onts/ | /'dif. or. onts/ ://

[pra'fif. ant.si/

In this last classification of noun stress rules, the data showed that

students often pronounced the stress placement incorrectly, and ones

more it is caused by the same mistake that words syllables that contains

of close vowels /1/ such as /od.va:n'tids/, /pra.fif.ont'si/, /dilv.or'i/,

/kon'fr.dents/ and mid vowel /of such as /dif'ar.ants/, /di.ve'lop.mont/,

/di.pa:t'mont/ etc. See the acoustic phonetics deeply:

Figure 4.17: department /di.pa:t'mant/
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0 Visible part 0.348875 seconds  0.348875

Total duration 0.348875 seconds

The PRAAT software analysis showed that the word

department /dr.pa:t'mont/ the stressed is put on the last syllable:
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a. In/di/ and /pa:t/ the pitch are falling down, while in the /'mont/ the
pitch is rising. Whereas the correct placement is /di'pa:t.moant/ the
stressed is placed on the second syllable.

b. The last syllable is higher than the first one.
Those are the result of students’ word stress performance showed by

the PRAAT software

c. Adjective

In the term of English stress, there are also several rules of adjectives
determined. Therefore, in this finding description the data will also be
classified based on the rules, they are;

The adjectives in case of more than two syllables:

1) If the syllable preceding the final syllable contains a long vowel or
diphthong or it ends with more than one consonant, that middle syllable
will be stressed.

Table 4.12
The adjectives with a long vowel or diphthong

Decision of students

No Students’ word stress The correct word stress
performance word stress performance
transcription Correct | Incorrect
1 | Appropriate /o'prou.pri.at/ | /o'prov.pri.ot/ \
2 | Important /im'poi.tont/ | /im'po:.t o nt/ \
3 | Frustrated /fras.trer'tid/ | /fras'trer.tid/ N
4 |Related  /riler'tid/ /1’ ler.tid/ \
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Based on the data findings, it showed that students often
performance the stress placement correctly. Let see the stress produced
deeply:

Figure 4.18: important /im’pa:.tant/

0.165305

0 Visible part 0.436208 seconds  0.436208
Total duration 0.436208 seconds

1. The word important /im'po:.tont/ that students pronounced correctly,
the stress is put on the middle or second syllable. (for more acoustic
analysis, see in the appendix)

a. In iim-/ the pitch is falling down, while in /'pa:/ the pitch is rising,
especially in part of vowels and the last syllable /tont/ the pitch is
falling down again.

b. The second stressed syllable is higher that first and third syllables.

Figure 4.19: frustrated /fras.trer tid/

0.642097

4] Visible part 0.709000 seconds  0.709000|
Total duration 0.709000 seconds




2)

74

2. The word frustrated /fras.trer'tid/ that student pronounced incorrectly,

the stress is put on the last syllable. (For more acoustic analysis, see in

the appendix)

a.

In / fras-/ and / trer-/ the pitch are falling down, while in the third

syllable /'tid/ the pitch is rising. Whereas, the correct stress

placement of frustrated is /fras trer.trd/.

In /fras-/ the pitch is falling down and the /'trer/ the pitch is rising

and the last syllable /tid/ is falling down.

It is because in first adjectives term of English word stress rule, the

middle syllable is stressed. Besides, this finding also showed that the

incorrect word stress performances produced are the words syllables

which contain with the close and short vowels /1/.

If the final syllable contains a short vowel and the middle syllable

contains a short vowel and ends with not more than one consonant, both

final and middle syllables are unstressed and the first syllable is stressed.

Table 4.13

The adjectives with the final and

middle syllables contains a short vowel

The correct word Decision of students
No | Students’ word stress | Stress transcription word stress
performance performance

Correct Incorrect
1 | Difficult /dif.1i'kalt/ ['dif.1.kalt/ N
2 | Similar /sm.a'lar/ /'sim.1.lar / N
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In this second classification of adjective word stress rule, the
finding showed that the words produced are incorrect, such as:
The word difficult /dif.r’kalt/ that student pronounced incorrectly, the
stress is put on the last syllable. (For more acoustic analysis, see in the
appendix)

Figure 4.20: difficult /dif.r kalt/

0.343456

|

0.333003
0 Visible part 0.676458 seconds  0.676458|

Total duration 0.676458 seconds

This analysis result of the word difficult /dif.r’kalt/, the stressed is put on
the last syllables.

a. In /dif-/ the pitch is falling down and the / 1-/ is also falling down,
while /'kalt/ the pitch is rising. Whereas the correct stress placeent of
difficult is /' dif.r.kolt/.

b. In /'dif-/ the pith is rising and in the /1-/ and /kalt/ the pitch is falling
down.

Besides, those data findings also showed that students pronounced

stress incorrectly in the word syllable that contains of mid and short

vowels /a/.
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3) The stress in these words shifts to initial position if they are immediately
followed by another word with initial stress. Stress is placed on second
syllable from the end (penultimate) in most words ending with
(...ic,...tion,...ish,...it,...ion,...id,...ive)

Table 4.14

The adjectives with initial endings

(..ic,..tion,..ish,..it,..ion,..id,..ive)

The correct Decision of students
No Students’ word stress word stress word stress
performance transcription performance
Correct | Incorrect
1 | Interactive /'mta.rek.tiv/ | /inta'rek.tiv/ N
2 | Effective  /1.fek 'tiv/ /1" fek.tiv/ \
3 | Attractive /o'treek.tiv/ Io'treek. v/ N

In this third classification of English stress rule, the data showed
that students’ incorrect word stress placement is higher than the correct
one. Let see the data deeply:

Figure 4.21: attractive /3 'traek.trv/
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1. The attractive /o'treek.tiv/ which is pronounced correctly, the stress is
put on the second syllable. (For more acoustic analysis, see the
appendix)

a. In /o-/ the pitch is falling down, while in /'treek/ the pitch is rising
and the last syllable /trv/ is falling down.

b. The pitch of second syllable is higher than the fist and the third
syllable.

Figure 4.22: interactive /'inta.raek.tiv/

0.189403

memcmnm' 1

0.189403 ‘ 0.523597
0 Visible part 0.713000 seconds  0.713000!
Total duration 0.713000 seconds

2. The word interactive /'inta.rek.tiv/ is pronounced incorrectly, the
stress is put on the firs syllable. (For more acoustic analysis, see the
appendix)

a. In/'mta-/ the pitch is rising and in two last syllables /reek/ and /tiv/
the pitch are falling down. Whereas the correct stress placement of
interactive is /into'reek.tiv/,

b. In /into-/ the pitch is falling down, while in /'rek/ the pitch is

rising, and the /tiv/ is falling down again.
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In this incorrect pronounced of word stress placement the students
also placed the word stress on the syllables that contains with mid and

short vowel /1/.

4) Stress is placed on third syllable from the end (anti-penultimate) in multi
syllable words, especially words ending with
(...an,...ity,...al,...ar,...ian,...ual,...itude,...logy,...graphy,...sophy, etc).

Table 4.15
The adjectives with initial endings
(..an,..ity,..al,..ar,..ian,..ual,..logy,..graphy and others)

Students’ word stress The correct Decision of
No performance word stress students word
transcription stress performance

Correct | Incorrect

1 | Original /o'ridz.r.nol/ /o' r1d3..nal/ \

2 | Instrumental /'1n.stro.men.tal/ | /in.stra'men.tal/ N

In this forth classification of English stress rule, students
produced a balance word stress placement. In this data finding students
also put the incorrect stress placement on the word syllable which
contains of close and short vowel /1/. Let see the word deeply:

Figure 4.23: instrumental /'in.stra.men.tal/
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The word instrumental /'in.stra.men.tal/ is pronounced incorrectly,

students put the stress on the first syllable.

a. In /'mn-/ the pitch is rising, especially in the term of vowels and in
the three syllables left /stro-/, /men-/ and /tal/ the pitch are falling
down. Whereas the correct stress placement of word instrumental is
put on the third syllable /mn.stro'men.tal/.

b. The first pitch stressed is higher than the other one.

5) Stress remains on the same syllable in words ending with (...able,
...age,...al,....ent,.. ful,...ing,...ish,.. .like,...less,...ly,... less,...ly,...ness,
...ous,..fy,...wise,...y,...ment).

Table 4.16
The adjectives with initial endings

(..able,..age,..al,..ent,..ful,..ing,..ous,..ly,..less,..ment and others )

The correct Decision of
No | Students’ word stress | word stress students word
performance transcription | stress performance
Correct | Incorrect
1 | Suitable /'sju:.ta.bl/ | /'sju:..ta.bl/ \
2 | Curious /kjuo'ri.es/ | /'kjua.ri.os/ \
3 | Different /'dif.or.ont/ | /'dif. o r.ont/ \
4 | Excellent /ek.sol'ant/ | /'ek.s o l.ont/ N

In the last classification of adjective English stress rule,
students have a balance word stress performance. Let see the stress

pronounced deeply:
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Figure 4.24: different /'dif.ar.ant/
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1. The word different /'dif.or.ont/ is pronounced correctly, the stress is

put on the first syllable. (For more acoustic phonetic, see the appendix)

a. In /'dif/ the pitch is rising especially on the vowels and in the /or-/

and /ant/ the pitch are falling down.

b. The pitch on the fist syllable is higher than the second and the third

syllables.

Figure 4.25: excellent /ek.sal ant/
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2. The word excellent /ek.sal'ant/ is pronounced incorrectly, the stress

put on the last syllable. (For more acoustic syllable, see the appendix)

a. In/ek-/ the pitch is falling down, and the /sal-/ is also falling down,
while in /"ant/ the pitch is the rising. Whereas the correct stress
placement is /'ek.sal.ant/.

b. In /'ek-/ the pitch is rising, and in /sal/ and /ont/ the stress are
falling down.

In this incorrect word stress performance the students also put the stress
on the word syllables which contains the mid and short vowels /a/ /ek.sal ant/.

Thus, those are students’ word stress performance on their speaking
class. Also, from those data it showed that many of students at fourth semester
are not pay much attention on their pronunciation, especially in the term of
stress. Besides, the data showed that students often made the same mistake of
word stress placement. It can be seen from the findings above, students often
made a mistake in pronouncing word syllables which contains of the same
close /1/ and mid vowels /a/ and this mistakes happened in all part of speech

and syllables.

2. The common types of students’ word stress performance at fourth semester
of speaking class English education department
After the findings description of students’ word stress performance

above, therefore it also will be describe and interpret the percentage of over all
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students’ word stress performance and make a decision of common types of
students’ word stress performance. Furthermore, its data findings also will be
specified and classified into three kinds of part of speech under heading (verb,
noun and adjectives) and three kinds of polysyllables they are (two, three and

four syllables).

Therefore, this description and interpretation could answer the
research question number two that find out students’ common types of words
stress performance. Here are the summarizing percentages of students’ word
stress performance based on the data finding: (see in the appendix)

Table 4.16
The finding summary of students’ common type
of word stress performance

Categories of Word Syllables Presented

Stress Performance

Verb 2 syllables 3 syllables 4 syllables
precentages of 77.8% 22.2% 0%
words produced

e correct 59.3% 3.7% 0%

e incorrect 18.5% 18.5% 0%
Noun 2 syllables 3 syllables 4 syllables
Precentages of 44% 32% 24%
words produced

e correct 24% 9.3% 4%

e incorrect 20% 22.7% 20%
Adjective 2 syllables 3 syllables 4 syllables
precentages of 0% 73.3% 26.7%
words produced

e correct 0% 20% 13.3%

e incorrect 0% 53.4% 13.3%
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Furthermore, from those data findings it can be described and interpreted as
below:

a. Word stress performance on Verbs

In this past of verbs, the data findings showed that students often
pronounced the verbs which have two syllables. It is proven by the
calculation that the biggest percentage of students’ verbs syllables presented
is in the categories of two syllables with 77.8%, categories three syllables
with only 22.2% and 0% for the four syllables categories. It is showed the
fact that students seem to have a limit vocabularies on their English
communication. It also supported by the finding of observation that many of
students have very slow speaking and just some of them who is fast

speaking.

Furthermore in this case of students’ verbs stress performance,
students showed a good performance, because they often pronounced the
English stress correctly with total 62.9% which is higher than the percentage
of incorrect stress performance with only total 37.1%. Thus, let see the other

finding of students’ stress performance on their speaking performance.

b. Word stress performance on Nouns
The findings of students’ nouns stress performance; it showed that
in the categories of two syllables with 44% is higher than the other

categories of syllables percentage on students’ stress performance but in this
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nouns syllables presented those three categories percentage showed a little
difference with 32% in three syllables performance and 24% for four
syllables performance. It is showed the same fact such the findings on the
verbs stress performance, the students often pronounced English words

which has two syllables.

Besides, the performance of nouns stress performance showed
opposite findings with the verbs performance. In the nouns stress finding the
percentage showed that students often pronounced the English stress

incorrectly with 62.7%, it is higher than the correct one.

Word stress performance on Adjectives

Based on the data presented above, it is showed that students often
pronounced the adjectives stress on the word which has three syllables with
73.3% percentage, it is much higher than the other adjectives syllables
presented. Besides, in this adjectives stress performance the students showed
the same finding with the nouns stress performance that students often
pronounced word stress incorrectly. The percentage showed that students
60% pronounced adjectives stress incorrectly and it is higher than the correct

stress performance.

Those are the finding description and interpretation of students’ over

all word stress performance on their speaking class. Therefore to have a
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valid and clear findings, therefore both the description and interpretation
finding above will be discussed and correlate with some theories in the

discussion.

DISCUSSION

After describing and interpreting the finding of students’ word stress
performance. Therefore, it will be discussed those finding description deeply.
Based on the data presented above, the first finding showed that students often
pronounced word stress incorrectly in polysyllabic word, especially in more than
two syllables. Besides, most of students are made the same mistakes. They often
pronounced the stress incorrectly when the word syllables contain of short
vowels close /i/ and mid /o/ vowels. Those mistakes often happened in all term
of syllables and part of speech. It seemed that students did not know about the

stress rules and syllables structure.

Besides, it also could be influenced by the students’ various mother
tongue. It is strengthen by Verghese statement that “the influence of mother
tongue also felt in the supra-segmental like stress, intonation and juncture.”® In
this case the researcher agreed with the VVerghese because the data finding in this
research also showed that students’ various mother tongue affected on their stress

performance, Javanese and Madurese. The facts showed that students always

e
p.70

Paul Verghese. 1989. Teaching English as a second Language. Sterling Publisher, New Delhi,
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pronounced word syllables which contains close /1/ and mid /a/ of short vowel
incorrectly. Whereas, in these cases of Javenese and Madurese sound, there are
no long vowels; therefore students tend to always pronounce the English stress in
short vowel. Whereas, in the phoneme of Javanese® and Madurese® vowels /1i/
indicate high stress and /o/ vowel indicate the mid stress. Therefore, they always

stressed the word syllables which contains of /1/ and /o/ vowels.

In addition, in case of two syllables students showed good stress
performance but it is also found that students made some mistakes in words
which have dual roles. Such as some verbs that pronounced incorrectly; research
/'ris3:tf/, divide /'dr vaid/ and Invite /'in.vait/ those verbs are stressed in the first
syllable which indicated noun whereas if they would pronounce verbs, it should
be stressed on the second syllable such /ri's3:tf/, /di'vaid/ and /in’vait/. Opposite
of that, students stress the noun words on the second syllables whereas they must

stress on the first syllable.

From those students’ performance facts showed that students
pronounced noun while it must be pronounced as verb whereas students have to
stress the verbs on the second syllables. Opponent of that, they have to stress the

nouns on the first syllable. It is strengthen by Kelly that “in case of words which

% Marsono. Fonem vocal bahasa jawa dan alofon-alofonya. Humaniora 10 januari — april 1999, p 57-
59.
* Akhmad Sofyan. Fonology bahsa Madura. Humaniora, volume 22, no 2 juni 2010, p. 207-218
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can be used as either a noun or a verb, the nouns tend to be stressed on the first
syllable and the verb in the last or in the second syllable.”* Thus, it is indicated

that many of students have limit understanding of English stress placement.

In deep, for the same (L1) it was not a problem, as long as they
understand about spoken massage. However, it was become a phonological
problem for the native speakers because they would be difficult in catching the
spoken massage when the words pronounced with the wrong stress placement.
Moreover it is added by Brittner perspective that “stress can change the word
meaning.”” It is correct when a word pronounced with incorrect stress placement
it could change the part of speech such the example above, and automatically it
also will change the meaning of words. Therefore, stress placement becomes one

of important aspect in learning the pronunciation.

Besides, the second finding showed that students often produced words
consist of two syllables. It seemed that students have limited English
vocabularies because the data showed that students often produced word with
two syllables. Furthermore, the data also showed that when students pronounced
words with polysyllables, they often pronounced or placed the stress syllables
incorrectly. These misplacing of stress are applied on polysyllabic words,

especially in more than two syllables. Therefore, from the summarizing of data

* Grald Kelly. How to teach pronunciation. Bluestone Press, Charlbury, Oxfordshire UK, p.69
% Anton Brittner. Prosody and suprasegmental features, unit 3. Phonetic and phonology 2, spring term,
2013.
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findings discussion above it can be conclude that common types of students’

word stress performance are:

1. Students’ common correct types of word stress performance are in the

form of verbs with two syllables.

In the term of two syllables, the stress placement just has two possible
rules, they are; stressed in the first syllable when it is noun, and stressed in the
second syllable when it is verbs. It is strengthen by althmann that “students
have higher percentage in two syllables than the other polysyllables words
when there are only two choices and where only one is incorrect, for example;
if the first syllable is stressed in the stimulus, listeners have only one incorrect
option.”® Therefore, it is easy for the students to memorize the stress
placement. Instead of that, the other finding showed an opponent fact when
students produced words with polysyllable words especially in more than two

syllables.

2. Students’ common incorrect types of word stress performance are in the

form of nouns and adjectives with more than two syllables.

In the term of polysyllables especially in more than two syllables, it

has little bit complicated stress rules since it is not practiced frequently. Also,

® Heidi Altmann, 2006. The perception and production of second language stress: a cross-linguistic
experimental study. university of delaware in partial, p.76
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students seemed confuse when they pronounced the words with more than two
syllables. This fact also strengthen in Altmann that “in polysyllables words it
is more complicated when the word has two incorrect options in three-syllable
words, and even three incorrect options in four-syllable words.” Therefore, it
could be expected to encounter a greater difficulty for the ESL learners since

they have limited practice and understanding of English stress rule.

It is also supported by the observation data that students’ daily
communication is their mother tongue even when they were in the collage.
They just practice the English in speaking class and in the presentation time.
Furthermore, many of students are in slow speaking and just some of them
who are in the fast speaking. Whereas, their first language is much

influential on their second language included the English stress.

In addition, those research findings related to the affects of students
L1 since their mother tongue is adhered. Also, the production of stress,
however, speakers of non-stress languages could be expected to encounter
greater difficulty in intentionally articulating the requisite combination of
pitch, duration and intensity, since they would not have experience with this

in their first language (L1).



